[image: image1.png]6.1-12 The weights (in grams) of 25 indicator housings used on gauges are as follows:

102.0 1063 106.6 1088 107.7
106.1 1059 1067 1068 1102
101.7 106.6 1063 1102 109.9
102.0 1058 109.1 1067 1073
1020 1068 1100 1079 1093

(a) Construct an ordered stem-and-leal display using integers as the stems and
tenths as the leaves.

(b) Find the five-number summary of the data and draw a box plot.

(¢) Are there any suspected outliers or outliers?




(The material is from Sample Characteristics. Technological device is allowed to solve the problem, but please do explain each step of your solution. Thank you.)

